ORR Notes - Russia

KQ: Were the events of February 1917 a collapse at the top or a revolution from below?
Was the collapse of the Tsarist regime inevitable? 

This is a major area of controversy. This is a basic sketch – courtesy of Evans and Jenkins p.187 of the views of historians:

Pessimists

Some leading historians

Leopold Haimson, The Problem of Social Stability in Urban Russia, 1905-17

D. Geyer,  The Russian Revolution: Historical Problems and Perspectives, 1987

T.H. Von Laue,  Why Lenin? Why Stalin? A Reappraisal of the Russian Revolution

Diane Koenker, Moscow Workers and the 1917 Revolution

Stephen Smith Red Petrograd: Revolution in the Factories.

They argue that:

1) The fall of the Tsarist autocracy was inevitable: the outbreak of war only postponed revolution.

2) Nicholas II’s poor leadership meant that he was incapable of dealing with the strains of rapid industrialization, made worse by his refusal to give any political concessions.
3) War was the catalyst of the revolution. 
Hamison was very pessimistic about the future of tsarism on the eve of WW1. He focused on the wide gulf between both the working classes and privileged classes in Russia and between the privileged classes and the Tsar. 

The period 1912-14 saw an increasingly politically motivated strike movement which the war only temporarily interrupted.

Koenker and Smith studied the working class in Petrograd and focused on ‘history from below’. They claim that factory workers were politically active in their own right and not simply controlled by the Bolsheviks. 

The pessimists stress as the main causes of the revolution:

1) Poor Tsarist leadership

2) Inherent structural weaknesses in the state, arising from rapid industrialization, which weakened traditional divisions in society and weakened the political structure.

3) The impact of war in terms of the added strain it put on Tsarism, which was already in crisis. 

Draw up a spider-diagram of the main ideas of the Pessimists

Optimists

Some leading historians

G. Katkov  Russia 1917: The February Revolution

G. Kennan The Breakdown of the Tsarist Autocracy.

Robert McKean, St Petersburg between the Revolutions

Francis Weislo Reforming Rural Russia

Their argument is that:

1) Tsarism was developing a constitutional system and would have survived in war had not broken out,

2) The monarchy was the victim of a conspiracy led by a small group of professional revolutionaries led by Lenin.

3) War was a cause of the revolution since it placed significant strains on Russian society.

Kennan, McKean and Hugh Seton-Watson claim that it was defeat in WW1 that made Tsarism exposed to revolutionary attack rather than any fundamental structural failing.

McKean said:

1) The strike movement was already dying down before war was declared.

2) Russia had been developing constitutionalism after the 1905 Revolution

3) Tsarism was trying to reform itself – most notably under Stolypin until his assassination in 1911 although prospects looked bleak after his death.
4) McKean questions the significance of factory workers in the revolution, stresses that they were in the minority among Petrograd workers and insisting that neither Bolsheviks, Mensheviks or Social Revolutionaries gave leadership to the labour protest in 1917. In his view the shop floor stewards created the revolution – a gulf apart from the intellectual leaders like Lenin in exile. 

They stress as the main causes:

1) A conspiracy by a small group of professional revolutionaries

2) The impact of war in terms of its interruption of constitutional developments and its creation of new problems

Draw up a spider diagram of the main ideas of the Optimists
Using this information, to what extent do you believe the February 1917 Revolution was a crisis of institutions in the face of economic and political growth, rather than the collapse of autocracy? Justify your answer.

